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QUESTION 1

Which flow source is most often sampled? 

A. vFlow 

B. sFlow 

C. QFlow 

D. netflow 

Correct Answer: B 

 

QUESTION 2

How can a user cancel a running report in IBM Security QRadar V7.0 MR4? 

A. A running report cannot be canceled 

B. Select the report > Actions > Cancel Report 

C. Right-click on the report > select Cancel Report 

D. Look at the report queue, select the report to be canceled, select Delete 

Correct Answer: A 

 

 

QUESTION 3

Which regex should be used to capture only the domain name blackbox.computerfor all future machine names based on
this example? 

`Computer=3 8 9.blackbox.computer\\' 

A. Computer= (. *?) \s 

B. Computer=389. (.*?)\s 

C. Computer=(389\..*?)\s 

D. Computer=. *?\. (.*?)\s 

Correct Answer: D 

 

QUESTION 4
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Which column in the log activity displays the coalesced value? 

A. Count 

B. Raw Count 

C. Event Count 

D. Roll-up Count 

Correct Answer: C 

 

QUESTION 5

What is used to parse an event (log record) in IBM Security QRadar V7.0 MR4? 

A. CRE 

B. DSMs 

C. Qidmaps 

D. Protocols 

Correct Answer: B 
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